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Write all the chemical equations balanced including | a5 e 4.0 LS OY slaat gres LS|

the conditions of the reaction: -Je i dog pii ,S3 pe
Answer the following questions: P AGY A e c
1. Choose to answer (a) or (b): 1(2) 91 (1) oo Al ¥ pid -\
Write the scientific expression indicated | J/-d! (—elal zllaasl| S|
by the following statement: 13 ylalt e
(a) A magnetic property which CLRY jred dulolize dusls (1)
characterizes the ions, atoms or el Sl s gl Sty
molecules that have unpaired o2 B3 yan Glig St e (g g
electrons in the sublevel (d) orbitals. | (q) o 21 (6 el | Sy 5

(b) Thg process of collec'tlng fine part}cles sl Sl pesd Ziles (L)
of iron ores to obtain larger particles

. ) Oleces (25 miall cnasst!
suitable for reduction process. §

RPL{SENNPI Uy
2. Choose to answer (a) or (b): 1(2) 91 (1) e Al oI - Y
Write the total reaction taking place in the: | | o il IS el Aalas LS
(a) Fuel cell. .38 911 ads (1)
(b) Lithium ion battery. A gt Ads ()
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3. Choose to answer (a) or (b): 1(@) 91 (1) (e a1 jud -V

Show by a chemical equation the effect | i ddibad Aalaetly
of acidified potassium permanganate on: | , ie diemel! p gl st Glilovia p

(a) Ethene. O (1)
(b) Ethanol. JLo¥ (o)
4. Explain: s pud - £

Titanium alloys with aluminum are used | &= P8t Lhilew pudius
in the manufacture of aircrafts and space | <!y lalldelio 2 5o Y

shuttles. L Aliaat| GLS yollg
5. Choose the correct answer: s Aol Wl W Jisl -0
On mixing two equal volumes of nitric O gladin (e da L3 i

acid and potassium hydroxide solutions, | weuSgjiwm el icdljaes Jolos
the concentration of each of them equals | 0.25M Legis Js 18,3 p 3l g
0.25 M, the produced solution is:

10950 L Jglmat | Ol0
(@)  Neutral. wstae (1)
()  Acidic. Lae ©
(©  Alkaline. Loz
(@  Amphoteric. sae ()
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6. Choose the correct answer: s Asvouall Al W ) -1
When the external circuit of a lead e R S E SR PS N (ST e
accumulator is closed (discharged): (K| o p25) i, @S el

(@)  Lead atoms deposit on the anode. ¥ e pabia M atys ey (1)

(b)  Lead atoms oxidize and the ol 1S3 austs ()

concentration of the acid decreases. sl 3uS 55 Jasg

(©)  Lead atoms oxidize and the ool 511 53 awsks )

concentration of the acid increases. coaamd | 7S 53 313349

The lead z}ccumulator acts as an A ISH FulS S el il
electrolytic cell.

7. Calculate the pH value of a weak (e 93! ¥ Aa® o) -V
acid solution whose concentration is 22 pa e Jetme pH

0.01mol/L knowing that its Ka=1x 107 0.01mol/L s 38,3

A x107=a Ka ob Lle

[4]
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8. The molecular formula C.H O a3 CoHg O ddayjadt daalt -A
expresses two isomers. P (OMSET) s 3 (g Liiio (o

First : Write the structural formula for | ys1 astiadt zacat casi ¥y
each of them.

Second : How canyoudistinguishbetween e [
them? $loghon reeeldl iliSer LS s Loy
9. Show by chemical equations: Ao LS S¥aladly sy -4
How to obtain black carbon (finely Pole Juany 2l
divided carbon) from anhydrous sodium (15omat ! (99,S31) (193,531 3 g
acetate. -ASLe AT 4 g3 gualt Slicewl (o
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10. Choose to answer (a) or (b):
Write the scientific expression

indicated by the following statement:

(a) The change in the concentration of

reactants per unit time.

(b) The reactions that proceed in both
forwardand backwarddirectionsandthe
reactants and products are continuously

exit in the reaction medium.

(@) 91 (1) 5o Al ;i3 -\
18kl e JIdl elal mlbaaed| LS|
APPSR S P BUELARINE-PY ()

.Q.n}!‘s..\:-_g‘;é e laiod!
Ol SIS (B el Se il (o)
Moot (9Ty ‘:,.uS.a.Y‘_g L_gaj.h.ﬂ
539> 0 hnilit g dlolat ol

Jeldill jus Byl peiuly

11. Explain:

Transition elements are used as ideal

catalysts.

¢ i =\ )
LAY oliall ansnios
Adlie jas JalgaS

[6]
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12. Choose the correct answer: s Aovoual) Al ) -\ Y
The compound which has the molecular | C4He aauati 4t g1 o8 palf
formula C H_belongs to the general aalal | A | Hiaaal | 3 et
molecular formula of: ]

@  CyHone

@ CnHZn-Z

@ CnH2n

@  CaHonnt

13. Explain: il =\
The hydrolysis product of ester differs bt Jlom b il Calisey
according to the type of the reaction oL By g o sy DAY
medium. ' ;

14. Show by a chemical equation the oid i At S At alaally iy -

effect of changing reactant concentrations | (o ay juse ;L dle et slgalf 18,3
on the rate of the chemical reaction of :

. . . dadand | gulna (o LS
iron (IIT) chloride and ammonium (D “”S.J . 9-' i\
thiocyanate solutions. pygad) Olibuwg pe
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15. Choose the correct answer: s dsvouall Al W ) -\ 0
The compound TiO, is characterised as being: b T102 oS yadt caaty
(@)  Paramagnetic and coloured. LOsle g undoliae 1y @
(b)  Diamagnetic and coloured. Osley pusbelina s ()
(©)  Paramagnetic and colourless. O9ke pid g aidoline L @
@ Diamagnetic and colourless. O8le il g udoline L @
16. Choose to answer (a) or (b): () 9l (1) He Al W jud -\ 1
lSl:)l;)Vvs;;)z bctl;?::ical equations, A5 LeaSH ;:i;t_::‘l; C::‘Z
(a) Benzamide from benzoic acid. g5l (e (pe a5 (1)
(b) Diethylether from ethene. O ¥ (e ¥ LS 81 ()
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17. Complete the table below to detect the | aasu LI Jodatt JeSi -V
following cations: s Adcal | OLgGISH Ge

Cation Group reagent for the Chemical formula of the
detected cation precipitate formed

O Ladst O9GISU Ae gasd | asls 98 oyt AiliaSI Adsal

First: Calcium
cation

Y vxiL3 :&3?
A g ST

Second:
Aluminum
cation
0318 +Lots

PRTPLE]

[9]

r19/0-1A Joll joaJl - A=alpoll Aulhhl) A A uj



YN/ YA aal 5kt ALaT) - J 931 5901 - (2 el M1 ARUIL) £ LoicamcSH - Aol 2y 3L Aual 50 ALSD| 33Lg ylonhn!

18. When electroplating an iron spoon
with a layer of silver:

First : Show by chemical equations
the reactions that occur at the
cathode and the anode.

Second : Calculate the quantity of
electricity in Coulomb to
precipitate 10.8 g of silver
on the surface of the spoon
through the electroplating.
[Ag= 108]

o e ddale oMb e -VA
s Aaall (o Adday

G 2 ML g + ¥ g0

2g31SI 19 393%1 (yo JS e

£y S e S i | 1 LGS

)M pgt oI5 b e

oe10.8 g o

Aaalell plaw Ao Acaall

eSLb Ya oo sl s

[Ag=108] sL,¢10,
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19. Choose to answer (a) or (b):

Write the scientific expression
indicated by the following statement:

(a) A chemical analysis which aims
to estimate the percentage of each
essential component of the substance.

(b) A solution with a known concentration
which is used to measure the unknown
concentration of another solution.

20. Choose to answer (a) or (b):
Explain:

(a) On reacting hydrogen bromide with
propene, 2-bromopropane is formed
but 1-bromopropane is not formed.

(b) The boiling points of carboxylic acids
are higher than those of the alcohols
that have the same molecular mass.

1(20) 91 (1) e Ml W1 3 14

JIad alalt allaaal| CS|

13 ylat! Lle

o Bg leesS Yot (1)
(e (950 IS Aiu oy
Baleld dcwlu Y Ol 9Sal !

S Sl pgdlas Jglons (o)
BULSE UL PR LS
SN Jggma 3T Jglons

() 91 (1) e Al W j>d - Y
3 poad
i g s S pa Jelas aie (1)
=9 =) et (i 9yt
Oy 9—m 9= -2 U9
Ol geg -1 Osso ¥y
polanWolile a o (o)
A0 (pe ool AuliuS a1
W gludiadl OY gomSI| Ll
A jond | ALSI B Lgase
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21. Choose to answer (a) or (b): (@) 91 (1) fe Al i =Y
3 A . o S Al Oy pl Al
By using silver nitrate, how to 1 (AbbeasS S alae (90) Gt

distinguish between: (without writing | 0
H3gg pgdgeadl da g o

chemical equations) g3 gual
(a) Sodium bromide and sodium iodide? | wco ySg pgasgualt coco pS (o)
(b) Sodium sulphite and sodium sulphide? 94 993 guaal

22. In the following equilibrium system: s O 3ed  allaidl o - Y Y

Na) + 3Hag === 2NH3py , AH=(y)

What is the effect of the following on the e il Las JS 2ali e
rate of ammonia formation? § 3L (4 985 Jtan
First : Increasing temperature. Byl pmdl A 53 B3l ¢ W
Second : Increasing pressure. dakcati 33l + Lt
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23. Choose the correct answer:

The law of mass action can be applied on:

Sodium chloride solution.
Ammonium acetate solution.

Potassium hydroxide solution.

Hydrochloric acid solution.

® 06

24.

+ Aovouall dala W1 S -V

t e WS Jad (9018 Guodal (S
pozagall i )elS Jgloe
P o ¥ Oliul Jglone

9B gl ) S gyl J glme

©®OO

L) 9IS g gl g Jgloe

Write one use only for each of the | daza i1y Lol caSI =Y

following compounds in the following | Jsusdt 2 SLS st (o IS

table below: -
Name One use
i (dazd i lg) alisiw|
Poly vinyl chloride 1| 57 e
eve) |

(PVC) wajais Juwld g

Teflon

Oeladt
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25. Show by chemical equations, how to obtain: | : 4.6 L& ¥ sladtli sy -Y0

Trinitrotoluene from benzene. Mo Jamias
23l (o (ya 31 sl g

26. The following reaction represents a galvanic cell: . ddlals dds Jias JLI Jolaidt -

Mn + Ni?* — Mn?" + Ni

Knowing that: J=ia Y 3¢ Of Ceale 3L
The standard reduction potentials of: (e ST dculiatt
Manganese (Mn) =—1.03 V —1.03 V = jioiadt
Nickel (Ni)=—-0.23 V —0.23 V = gsad
First: Calculate the emf of the cell. sl emf Con! YR
Second: Write the cell diagram. sl oS ¥ a0 LIS LA
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27. Show by chemical equations, how to 2.8 A0 LS DY slaat by g - YV
dis.tinguish between iron and magnetip 110N | st ST g ctdmd | (i e
oxide by using hot conc. sulphuric acid. e Al o liial!

O L3S pal ) Ly oS3
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28. Choose to answer (a) or (b): (@) 91 (1) e W1 od -YA
Write the scientific expression SIS (alall Lt 1 S
indicated by the following statement: FRORIDEN
(a) Covering the metal which needs to diule 3l pedl jlatl wuass (1)

protect fI:OIIl corrosion by another Lasi Al ey s
more active metal. .
(b) A process of chemical corrosion of AL 5leasS JST abec (o)

metals due to environmental effects. i da g s

29. If the solubility degree of aluminum S g yud Olug A ja cIS 13 - Y4

hydroxide AI(OH), in water is 10°mol/L, | *!' 2 Al(OH)3 pgcia g Y1
ed ciwst 3/050 100 Lo

AW ol

Calculate its solubility product.

30. Explain: ¢ wd =V

Stopping the flow of the electric current in | 8,513 (8 LI 59 o0 a8 g
the external circuit of Daniel's cell when the | g2, wie JLo1s Zdst Lo st
salt bridge is removed from the cell. o WES (PR SRR TN (P JUN-1 {
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31. Choose the correct answer: s Asvouall Wl W 5 =Y
Ethene gas reacts with bromine dissolved | Cliatiag,diase uin¥iHlé Jela
in carbon tetrachloride to produce: : B9 (33,11 318 o8
@)  1,1-dibromoethane. ol gagmitn—1,1 (D)
@ 1,2- dibromoethane. Ol geg s Sa—2,1 @
(©)  bromoethene. Okl sesn D
(@  bromoethane. Olisasr ()
32. Explain a practical experiment to 116 7 95 Adlas Ay 5 - Y'Y
show the effect of surface area of the OMelaiat! el dsbue 3]
reactants on the rate of reaction. Jelait Jume ole
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33. Explain: s ypuwd =YY
aial (5 g ySI | S A iy
S e (29CU) b

.4y é#‘@jﬂﬂ?‘

The electronic configuration of copper

element (,,Cu) is anomalous than that of
the expected electronic configuration.

34. Choose to answer (a) or (b): 1(2) 91 (1) e Aala W o3 -Y¢

Show by chemical equations, how to obtain: | :le Juad a8 S¥alaatl ray
(a) Acetone from 2-bromo propane.

Oligys gag 0 -2 (pa 0¥ (1)
(b) Meta-chloro nitro benzene from benzene.

O (e (3o 9,50 9)9iSLice (o)
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35. Complete the table below to Alaer I Jouandt JeSi -YO
correspond the chemical name of the P AO UL Ay Syl gl
compound with its structural formula.

Chemical name Structural formula

‘?(S).QJ‘ ‘Q.u‘ 2\._95\.].}3‘ Z\.i,_ua.”
3 HCl HCHsH
: | | | | |
% H-C-C=C-C -C-H
= [ 11
H H H

ﬂ
N Pyrogallol
S~
_g yrogallo
8 Jol > g et
A
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36. A sample of hydrated iron (I1I) (TIT) ot o )9l (yo At Ciidvw =YY
chloride (FeCl, . X H,0), whose mass s (FeCls . X H20) @ yugiad!
is 5.41g is strongly heated till its mass Gl sl (vl aasg 5 41 g

becomes constant at 3.25 g. 3.25 g e wuls Lgils
Calculate the number of crystallization | (X) st sle Slija sue s
water molecules (X) of the hydrated S ydgialt (TIT) At 98 elat
iron (IIT) chloride salt. [Fe=56,Cl=35.5, ol Late
H=1,0=16]

[Fe=56,Cl=35.5,H=1, O =16]
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37. Choose to answer (a) or (b):
Write the chemical or common name for:

(a) The alcohol which is used in the
manufacture of Dacron fiber.

(b) The ester produced from the reaction
of salicylic acid and methanol.

38. Explain:

A mixture of salts (aluminum, sodium,
and calcium fluorides) is used instead
of cryolite to be mixed with bauxite on
extracting aluminum electrically.

1(2) 91 (1) (e Ayl M1 3 - YV
1@ 91 (A LeaSI @ | LS|
g Belin (8 S s J oS (1)
.ijs‘.ﬁ‘
pae> Jelai fpemilid| Y (v)
Jeobialt pe bl

UK )
plasiuly Cod 92 )31 e polatiun
Ol 3-8 7 Ml (3 o g Line
poargealiypyciogt¥i e IS
s C;.,g.uS}.d! &_p‘fsh“u.!LSJ‘j

Lo S p gin g1V (o M|

39. Choose the correct answer:

On passing an electric current in a copper
chloride solution (CuCl,) and using
platinum electrodes:

@ The concentration of the solution increases.
@ Chlorine gas evolves at the anode.

@ The mass of the cathode decreases.

@ Chlorine gas evolves at the cathode.

zw‘%‘??‘ﬂ'}‘ -Y9

9o B (2 pgS HLG ) pol e
(CuClp) bt s ygLs
OO (pe wllad alisviwly

cJglonal | o8 5T Al ja @
W e HglSI nebas @
sglstias g

99180 e 3ist aela (3)
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40. Calculate the equilibrium constant K¢ | Kc o 3% Sl cowst -+
for the following reaction: o L S ity
PCl; + Cl:= PCls
Providing that: ¢ PCL=4M ;8,5:0b ke
The concentration of PCI— 0.8\ Sk OB g
The concentration of CL.= 0.3M Clo=0.3M 385
41. Choose the correct answer: s Asuouall Al W 5 - ¢
Naphthalene isa ............ compound. sOLS podl (o mflan (Lt
(@)  Saturated aliphatic. Andazsesy (1)
(b  Unsaturated aliphatic. Andiall i aslad¥ Q)
(©)  Saturated cyclic. Andidi gy ()
(@  Unsaturated cyclic. Andiadl i dattt ()
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42. Explain:

No free hydrogen ions can exist in the

aqueous solutions of acids.

i -8 Y

13 pie (pumm g yugl! Ogal wim g ¥

Aled) (oles Y| Ldlee 2

43. Choose to answer (a) or (b):

Show by chemical equations,
how to obtain:

(a) Iron (IIT) chloride from iron (I1I) oxide.
(b) Iron (IT) oxide fromiron (III) hydroxide.

() 91 (1) Ge Al M1 ju - €Y
Aol OYsla st maudg
S (o (M) s w5918 (1)
N 11)JEERES
oo (ID i eeusi(@)
() s S gy
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44. A sample of 6 g of impure caustic soda | 2l ygall po diue (0 6 g il -84
is dissolved in water and the solution 1S |yt yasiy elott o2 Al jui
completed to one litre, If 25ml of this )

3a e 25ml Jalas ala ¢ f
solution neutralizes with 18ml of 0.1M (;ui‘f\'/} m . J; "1‘ e ‘
sulphuric acid. 1AM Jstoe o 18ml s Jslnad

L S a0
ALY 13 il Aot it |
Aal B
A e A s ol Lele
ol cuSgyuig !
[NaOH=40]

calculate the percentage of caustic soda
in the sample.

Providing that: the molecular mass of
sodium hydroxide [ NaOH= 40 ]

45. First : Show by a chemical equation | adleeiitalastlypiny z;'ji -¢0

the preparation of ethyne gasin | ..y o b ¥15le pudand
the laboratory. - ,
, Oelio¥ e o s < Laly
Second : How to obtain acetaldehyde Sl e

from ethyne?
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